o=
(RNERERE) (R4 EFEREL) 10R16H @ik 5t HER HR(E->T-HEYD-IE)
B4 B | ER G O 4 | M |EE| B o4 B | M| =B O O 4 | | ER G
EEA 70 | 70 | 140 | |EBAE 14 | 17 | 31 XEEE 2 2 4 [\ 1 1
TEEE 13| 16 | 29 fB2iE 11 | 10 | 21 BEXX 1 3 4 Wk 1 1
FRIK 2 3 5 fBeE 7 | 12| 19 ®rE 2 1 3 TEA 1 1
5 A B 2 2 T&R 5 6 | 11 EEH 2 1 3 MEFE 1 1
BEE 1 1 2 EZEA 6 4 | 10 B&RE2 1 2 3 BN 1 1
LES 1 1 EES 5 2 7 445 1 1 2 A= b 1 1
L£RE 1 1 ] 3 4 7 SEfC I 1 1 2 Lk 1 1
TEE ik 1 1 EIETE 2 | 4 6 =P:] 1 1 2 BH1 1 1
EEXAK 1 1 BERK 1 5 | 6 =% 1 1 2 ERHFR 1 1
INET 90 | 92 | 182 | |EAEER 3 2 5 EE# 2 2 EEa 1 1

B2E 1 4 5 HE=EA 2 2

i YLES 3 1 4 &%m 2 2

EROKER 2 2 4 ShAEE 1 1 g 81 | 102 | 183

BEE 2 2 4 HBEE 1 1 =1 171 | 194 | 365




o=
(RNERERE) (R4 EFEREL) 10R17H 18k 45t HER HBX (0SS - F )11 - LR - S L - 4 - B4 B )
B4 B | ER G O 4 | M |EE| B o4 B | M| =B O O 4 | I |EE| B
EEA 65 | 83 | 148 | |BEEBES& 7 | 21| 28 EEES 1 3 | 4 E= i3 1 1
TEEE 17 | 26 | 43 fB2iE 10 | 12 | 22 EE# 2 1 3 SkIEE 1 1
FRIK 6 5 | 11 EZEA 5 | 11| 16 XEEE 1 2 3 TEA 1 1
AR 2 3 5 Bt 6 6 | 12 BZE 1 2 3 HREE 2} 1 1
i E e 1 1 2 BEX 4 6 | 10 =953 1 2 3 21142 1 1
AL S 2 2 FRAER 3 7 | 10 EEH 1 2 3 EB& 1 1
L£RE 1 1 fERH%5 6 3 9 EEE 3 3 HET 1 1
fgE 1 1 A 6 2 8 TEIEE 1 1 2 =i 1 1
b 1 1 HEMK 3 5 8 =R 1 1 2 s hE 1 1
5 A B 1 1 B 5 2 7 5E75 2 2 MRE 1 1
fis 1 1 Z&R 1 6 7 B&RE2 2 2 mEE 2 2
INET 93 | 123 | 216 | (2% 2 3 5 BT 2 2 it 72 | 120 | 192
BERE 2 3 5 £ XER3 1 1 =11 165 | 243 | 408




o=
(R NEERS) (RS ERRIESF) 10180 1k 45t HER MR (B -EEE-HEOE-FIEE-EE)
o4 B | M |ER o4 /| M| =P OB A A I - - O 4 | | ER G
EEA 72 | 93 | 165 | |fEzEE 8 | 12 | 20 XEEE 2 1 3 F1TEH% 1 1
ZEEE 19 | 28 | 47 FEA 11| 8 | 19 FERE 2 1 3 EE 1 1
FRIK 4 | 3 7 B 9 8 | 17 EEE 1 2 3 TEA 1 1
TEE ik 2 1 3 T&R 7 6 | 13 s R 45 1 1 2 % 15 A 1 1
L£RE 2 2 EEEA 3 5 8 Ata 1 1 2 ik 1 1
AL S 1 1 EE 3 5 8 BEXX 1 1 2 tFE 1 1
FEA 1 1 HERK 4 3 7 ECES 2 2 [E%E 1 1
5 A B 1 1 EIETE 5 1 6 ERONER 2 2 EEH 1 1
ity 5 1 1 B2 E 3 3 6 =k 2 2 fBXE 1 1
ERA 1 1 i YRES 1 5 6 o= 1 1 £ 1 1
INET 100 | 129 | 229 &% 3 1 4 EF eSS 1 1 |mET 1 1
e 1 3 4 B BT 1 1 it 80 | 77 | 157
ey 3 3 B F R 1 1 = 180 | 206 | 386




